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e U2 E (1/8) 8

H =~ (Variables)
0

0l SOIE I &4

Jl= Bt a. &= Ete (integer types)

(Basic types) b. &= Et& (floating-point types)

EHE Bt HaEo A HO| T2 )2 O|cHE A
(Enumerated types) o=

void Et = A EGHA &£ 2

(The type void)

AMEX H2 EF
(Derived types)

L OIH (pointer types)
BH & (array types)
- Al (structure types)
=& (union types)

& = (function types)
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A=z =) 2o HS ¥
char 1 byte -128 to 127 or 0 to 255
short 2 bytes -32,768 to 32,767
o= | Int 4 bytes -2,147,483,648 to 2,147,483,647
=T long 4 bytes -2,147,483,648 to 2,147,483,647
long long 8 bytes -9,233,372,036,854,775,808 to
+9,233,372,036,854,775,807
float 4 bytes 1.2E-38 to 3.4E+38
=% | double 8 bytes 2.3E-308 to 1.7E+308
long double | 8 bytes O &F | 3.4E-4932 to 1.1E+4932
=80 dJ)l= AMAE E2 LS
=8 0ll= unsigned & AIE6tH 0} E+CF 2 Jis
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m sizeof HALA}
v Queries size of the object or type

sizeof (types);
or sizeof expression;

{

int main(void)

char ch=9;
int num=100;
float pipi=3.

printf(“size
printf(“size
printf(“size

printf("size

printf("size

14;

of char
of int
of int

of int

of float

: %d \n", sizeof(ch));

: %d \n", sizeof(inum));

: %d \n",| sizeof inum);

: %d \n",

: %d \n", sizeof(int));

sizeof float);
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s Al 3| ¢

{

#tinclude <stdio.h>
int main(void)

char ch=9;

int inum=1052;

double dnum=3.1415;

printf("2H= chll AJ|: %d \n", sizeof(ch));
printf("2H= inum@ AJ[: %d \n", sizeof(inum));
printf("2H = dnum@ AJ[: %d \n", sizeof(dnum));
printf("char =J|: %d \n", sizeof(char));
printf("int2 =J|: %d \n", sizeof(int));
printf("long2l =J[: %d \n", sizeof(long));
printf("long longl =J|: %d \n", sizeof(long long));
printf("floatll =J|: %d \n", sizeof(float));
printf("doublell =J|: %d \n", sizeof(double));
return 0;

Results

H chel AJ): 1
H= inumll FJ]: 4
4 dnum@ 3J|: 8
charll AJ|: 1
inte =J|: 4
long2| =J|: 4
long longll AJ|: 8
floatl AJI|: 4
doublel| =J|: 8

Q: X2 A=d S0l HH A== 50l 0F ot=It

™)
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#include <stdio.h>

int main(void)

{
char chl=1, ch2=2, resultl=0;
short sh1=300, sh2=400, result2=0;
printf("size of chl & ch2: %d, %d \n", sizeof(chl), sizeof(ch2));
printf("size of shl & sh2: %d, %d \n", sizeof(shl), sizeof(sh2));
printf("size of char add: %d \n", |sizeof(chl+ch2));
printf("size of short add: %d \n"J| sizeof(shl+sh2));
resultl=chl+ch2;
result2=shl+sh2;
printf("size of resultl & result2: %d, %d \n"} sizeof(resultl),

sizeof(result2));

return 0;

}
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Results

size of chl & ch2: 1, 1
size of shl & sh2: 2, 2 i

| B A i sizeof(chl+ch2)
size of char add: 4 i reeree= sizeof(sh1l+sh2)

|.size _of short_ add: 4 __ i R
size of resultl & result2: 1, 2 [

Q: 2 char 3|2 short 3J|J} 4 HIOIE 21D} ?

A: CPUS| J|= 4 2= int (Al A AB S 2H&)

--’
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6 Atcl
15 At
18 Atc|

float
double

long double
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M EES IS AN B

#include <stdio.h>
int main(void)
{
double rad;
double area;
no|o| H = olad. my.
ey, araq); ) %1f:double 212 KA
~~~~~ %f : double & AlA!

ar = rad*rad*3. %415

printf("SHE 401 { %f \n", area);

\

return 0; -
; ! 4

Results
o BHAS &4: 2.5

H2l &O0l: 19.634375
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11

s ASCII 2 &=

v Ol= &&= &2 (ANSI) 0l OtAI| (ASCI) Z=E Ml E
» ANSI: American National Standards Institute
» ASCII: American Standards Code for Information Interchange

v B1280M2 2X2 P4

108 = 168 == X
65 41 A
66 42 B
67 43 C
68 44 D
97 61
98 62 b
99 63 C

<ASCII table>

Q: A 2 a2 1074 2t2 XH0/=?
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12X 2 (2/3) 12

s COUA A &

exEd1
int main()
{
char chl = 'A’;
char ch2 = 'C';
}
char chl 65
char ch2 67

int main()
{
char chl
char ch2

65;
67;

=H 220l S Xt

<ZcZ H22l>

OtLlct = At H&EE
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s = A 2A 2 0

Q1: ch3 = 321 0| &
Q2: “Hello” 9} 22

ik

#include <stdio.h>

int main(void)

{
char chl="A"', ch2=65;
int ch3="7Z", ch4=90;
printf(1%ci%d \n", chl, chl);
printf(i%ci%d \n", ch2, ch2);
printf(i%ci%d \n", ch3, ch3);

ch4, ch4);
}

Results

A= w27

A 65
A 65
Z 90
Z 90

%d : Bt &
%cC : Z2A =&
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0

Ol Chgt O

<
20

s A (EE. constants)2 A 9

= GlOlE

o}
LS

ot Al

<0 >

4

= |iteral &t

(symbolic) &f %=

4

<0

= const
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s 0[S0 8le= &= (literal)

a2l 0f

int main()
{
int num = 10 + 20;

int num 30

type? 10
type? 20
<=2c| Hl2cl>
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#include <stdio.h> 7
int main(void)
{
printf("literal int size: %d \n", sizeof(7));
printf("literal double size: %d \n", sizeof(7.14));
printf("literal char size: %d \n", sizeof('A"));
return 0;
¥
—7-14—
Results
literal int size: 4
literal double size: 8
literal char size: 4 A

Q: charl H N2 E 2 4byte 2t2? <22l H2Z22l>
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#include <stdio.h>
int main(void)

{

float f2 = 3.23 + 5.12;
return 0;

-
-
-
-
-

float f1 = 5.678; mememi -

--------------------------------------------

____________________________________________
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U unsigned int unsinged int k = 1025U;

L long long k = 2467L

UL unsigned long unsigned long k = 3456UL

LL long long long long k = 5768LL

ULL unsinged long long unsinged long long k = 8979ULL

F float float k = 1025F;
L long duble long double k = 2467L
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s 0|8 Ue= A=< A= const &=

S
v 1)const |RE AtE
n M SAIO S

asf= =)ot ol OF &
v 2) 012 2 (macro)E 0| Eol= & E
A42] 0
#include <stdio.h>
int main(void)
{
const int MAX = 100;
const double PI = 3.1415;
MAX = 350; - error C2166: |-value specifies const object
return 9;
}
Tip: &+ 0| & T&7|
1. & 0|2 L EXI2 EA
2. = 0| &e| THo{="_

' 2 ¢Z (0, HOUSE_COUNT)
[
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n AEE BHES H2

v OIS E8S tt3=e A
v 0l) char GI0lE1 S int GOl = &

ﬂOl'

s AE2d BHEo S&
c )RS S HEH (S AR E BB
c2) UM E HEH (BAIN H B
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As o BHar -1
v e A AN 2 A
& g o (1)
#include <stdio.h> test.c(4): warning C4244: 'initializing’ :
int main(void) conversion from 'double’ to 'int', possible
{ ’ loss of data
int nl = 3.1415;

————————————————————————————————————————————

double n2 = 123; "-'-'-'::::":: |
. Q: Correct or not ? !

return O3 L ;
}
&8s ol (2)
##tinclude <stdio.h>
int main(void)
{
int n3 = 129;
char cl = n3; -ees==zzzz-:- oo ST T T Tm T T m s T \
sooloo > :
return @;  Q: Correctornot? -
}
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#include <stdio.h>

int main(void)

{
double numl=245;
int num2=3.1415;
int num3=129;
char ch=num3;

printf("&= 2455 &=+2: %f \n", numl);
printf("& = 3.14158 E=+Z2: %d \n", num2);
printf("2 &= 1292 &2 E+==: %d \n", ch);
return 0;

Results

Ha= 2455 & +Z: 245.000000

Al 3,14158 H£==2: 3
=2 M 1292 X2 2 -127

e R —
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St (4/6)

=g HEk-2
v &2 & (Integral Promotion)

#include <stdio.h>
int main(void)

-----------------------------------

{
short nl=15, n2=15;
Short N3=n14n2; —eeczzzzzzz 70 A 0|
return 0; e
}
Q: H40 £240] 20
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» A & BHE -3
oI HATIS NIRE EUXZ LAY

#include <stdio.h>
int main(void)

{

__________________________ * 291X 2 HAO| Jbs
e T Gk oks? | 1) inte B
y T 2) double 2 H &

|:>[ long ]E>[ long long ] E>E> double [>[ long double ]

<A=GHLOA & BHE HE>

Rule: O|0IE =&2] =43t

Seungjae Baek



X2 & ol HE (6/6) 2
s HAIE H HE
v A 2o9|=4d HEt

{

##tinclude <stdio.h>
int main(void)

int numl=3, num2=
double divResult;

4;

P

-
==

divResult= (double)numl/numz

—-— 00 aeeocaaeaoe
» -

-

-
Pl -

- -
- -
Pl -
- -
- -
- -

- -
- -
-

printf("Li=& Z1t: %f \n", divResult);
return 0;
Results
Lis=& Z1}t: 0.750000
L& Z1}: 0.000000
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C Ao D=

v Agdl

v sizeof & Af
(|

= At &

7=
O

|.

(-
v ASCII Z &

AP
O T
v cltHE &

XEsol b

I S —

—

A
T

X

=

TT
]
A

L

INE=
2! o

I AtE 2

= O|6H
012 H& He

0Q!
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Quiz

s 1)intx; Jt A= W x0l =80 S0t [ Ol et £2

= =
2O BT SIH? E6 0] [ 2 3t 284 S N

CAL.

v C & :printf("%c \n", x);

v &4 Zil : C
A A
4 gl_l_ Ek, 2I|_|—|— Bt
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